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SECONDARY SCHOOL EXAMINATION – 2022  (ANNUAL) 
Model Set 

Home Science (Theory) 
(Opt.) 

 

Time : 2 Hours. 45 Minutes      Full Marks : 70 

Total No. of questions – 70 + 20 + 6 = 96 

Instructions for the candidates :- 

1- ijh{kkFkhZ OMR mŸkj i=d ij viuk iz”u iqfLrdk Øekad ¼10 vadksa dk½ 

vo”; fy[ksaA 

Candidates must enter his/her Question Booklet serial No. (10 

digits) in the OMR sheet. 

2- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mŸkj nsaA 

Candidates are required to give answers in their own words as far 

as practicable. 

3- nkfguh vksj gkf”k;s ij fn, gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

4- iz'uksa dks /;kuiwoZd i<+us ds fy,15 feuV dk vfrfjDr le; fn;k x;k gSA 

15 Minutes of extra time has been allotted for the candidates to 

read the questions carefully. 

5- ;g iz”ui= nks [k.Mksa esa gS] [k.M&v ,oa [k.M&cA 

Sub. Code – 118 
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This question booklet is divided into two sections – SECTION-A 

and SECTION-B 

6- [k.M&v esa 70 oLrqfu"B iz”u gSaA ftuesa ls fdUgha 35 iz”uksa dk mÙkj nsuk 

vfuok;Z gSaA 35 ls vf/kd iz”uksa dk mÙkj nsus ij izFke 35 mÙkjksa dk gh 

ewY;kadu fd;k tk,xkA izR;sd mÙkj ds fy, 1 vad fu/kkZfjr gSA lgh mÙkj dks 

miyC/k djk;s x;s OMR mÙkj i=d esa fn;s x;s lgh fodYi dks dkys@uhys 

ckWy isu ls izxk<+ djsaA fdlh Hkh izdkj ds OgkbVuj@rjy 

inkFkZ@CysM@uk[kwu vkfn dk OMR mÙkj&iqfLrdk esa iz;ksx djuk euk gS] 

vU;Fkk ijh{kk ifj.kke vekU; gksxkA 

In Section-A, there are 70 objective type questions, out of which 

35 questions are to be answered. First 35 answers will be 

evaluated in case more than 35 questions are answered. Each 

question carries 1 mark. Darken the circle with black/blue ball pen 

against the correct option on OMR answer sheet provided to you. 

Do not use Whitener/ Liquid/Blade/Nail etc. on OMR Sheet; 

otherwise the result will be invalid.  

7- [k.M&c esa dqy 20 y?kq mÙkjh; iz”u gSa] ftuesa ls fdUgha 10 iz”uksa dk mÙkj 

nsuk vfuok;Z gSA izR;sd iz”u ds fy, 2 vad fu/kkZfjr gSaA blds vfrfjDr] bl 

[k.M esa 06 nh?kZ mÙkjh; iz”u fn, gSa] ftuesa ls fdUgha rhu iz”uksa dk mÙkj nsuk 

vfuok;Z gSA izR;sd iz”u ds fy, 5 vad fu/kkZfjr gSA 
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In section-B, there are 20 short answer type questions, out of 

which any 10 questions have to be answered. Each question 

carries 2 marks. Apart from these, there are 6 long answer type 

questions, out of which any 3 questions have to be answered. 

Each question carries  5 marks. 

8- fdlh izdkj ds bysDVªkWfud&midj.k dk iz;ksx iw.kZr;k oftZr gSA 

Use of any electronic appliance is strictly prohibited. 

Section-A (Objective Type Questions)

iz'u la[;k 1 ls 70rd ds izR;sd iz”u ds lkFk pkj fodYi  fn, x, gSa] ftuesa ls 

,d lgh gSA vius }kjk pqus x, lgh fodYi dks OMR&”khV ij fpfàr djsaAfdUgha 35 

iz”uksa ds mÙkj nsaA         (35x1=35)

Question Nos. 1 to 70 have four options, out of which only one is 

correct. You have to mark your selected option on the OMR-Sheet. Answer 

any 35 questions.        (35x1=35) 

1- buesa ls dkSu laØe.k ds f[kykQ ,d fuokjd mik; gS\ 

(A) Vhds yxokuk    (B) fu;fer :Ik ls gkFk /kksuk 

(C) chekj yksxksa ds fudV lEidZ ls cpuk (D) buesa ls lHkhA 

Which of these is a preventive method against infection? 
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(A) Getting vaccinated     

(B) Washing hands regularly 

(C) Avoiding close contact with people who are sick 

(D) All of these 

2- ukM+h nj ¼iYl jsV½ dk laca/k gksrk gS& 

(A) ekuo ân; dh /kM+du ls  (B) Hkkstu ds ikpu ls 

(C) 'okl ysus ls    (D) buesa ls dksbZ ugha 

The pulse rate is related to- 

(A) Human heart beat   (B) Digestion of food 

(C) Breathing    (D) None of these 

3- ty 'kq)hdj.k dh ?kjsyw fof/k dkSu lh gS\ 

(A) mckyuk     (B) Nkuuk 

(C) folaØe.k djuk    (D) buesa ls lHkh 

Which is the domestic method of water purification ? 

(A) Boiling     (B) Filtration 

(C) Disinfection    (D) All of these 
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4- buesa ls dkSu jDr dk dk;Z gS\ 

(A) gesa thfor j[krk gS    

(B) iks"kd rRoksa vkSj gkeksZu dk ifjogu djrk gS 

(C) 'kjhj ds rkieku dks fu;af=r djrk gS 

(D) buesa ls lHkh 

Which of these is the function of blood? 

(A) Keeps us alive     

(B) Transports nutrients and hormones 

(C) Regulates body temperature 

(D) All of these 

5- ?kj dh lkt&lTtk fuHkZj ugha djrh gS& 

(A) vkfFkZd fLFkfr     (B) lq:fp 

(C) enn djus okys gkFk   (D) ltkoV ds fl)karksa dk Kku 

House decoration does not depend on- 

(A) Economic condition     

(B) Taste 



6 
 

(C) Helping hands      

(D) Knowledge of principles of decoration 

6- buesa ls dkSu fM¶Fkhfj;k jksx esa gksus okyk fodkj ugha gS \ 

(A) ykj xzafFk;ksa esa lwtu    

(B) psgjs ij yky nkuk fudy vkuk 

(C) xys esa f>Yyh dk cu tkuk    

(D) VkWfUly esa o`f) gks tkuk 

Which of these is not a disorder of diphtheria disease ? 

(A) Swelling in the salivary glands 

(B) Rashes on the face 

(C) Formation of membrane in the throat 

(D) Increased tonsils 

7- izd`fr esa vkWDlhtu dk lUrqyu cuk, j[krk gS & 

(A) euq";     (B) dhV&iraxs 

(C) oU;tho     (D) isM+&ikS/ks 

…………… maintain balance of oxygen in nature 
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(A) Human      (B) Insects- moths 

(C) Wildlife     (D) Trees and plants 

8- gok esa vkWDlhtu dk izfr”kr fdruk gS \ 

(A) 15-4%     (B) 39% 

(C) 20-96%     (D) 80% 

What is the percentage of oxygen in air ? 

(A) 15.4%     (B) 39% 

(C) 20.96%     (D) 80% 

9- /ofu iznw"k.k izHkkfor djrk gS & 

(A) vek”k; dks     (B) o`Dd dks 

(C) dku dks     (D) ;d`r dks 

Noise pollution affects- 

(A) Stomach     (B) Kidney 

(C) Ear     (D) Liver 

10- fuEufyf[kr esa ls dkSu rqjar ÅtkZ nsrk gS \ 

(A) foVkfeu     (B) izksVhu 
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(C) dkcksZgkbMªsV    (D) [kfut yo.k 

Which of the following gives instant energy ? 

(A) Vitamin      (B) Protein 

(C) Carbohydrate    (D) Mineral salt 

11- buesa ls fdlesa Qkbcj ugha gksrk gS \ 

(A) izksVhu     (B) olk 

(C) dkcksZgkbMªsV    (D) buesa ls dksbZ ugha 

Which of these does not contain fiber ? 

(A) Protein     (B) Fat 

(C) Carbohydrate    (D) None of these 

12- jlksbZ?kj esa f[kM+dh dk gksuk D;ksa vko”;d gS \ 

(A) izkd̀frd gok ds fy,   (B) lw;Z ds izdk”k ds fy, 

(C) ok;q ds lapkyu ds fy,   (D) buesa ls lHkh ds fy, 

Why is window important in the kitchen ? 

(A) For natural air    (B) For sunlight 

(C) For ventilation    (D) All of these 
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13- LVhy ds cŸkZu dh lQkbZ djuh pkfg, & 

(A) jk[k ls     (B) pwus ls 

(C) foe ls      (D) lQZ ls 

Steel Utensil should be cleaned with – 

(A) Ashes     (B) Lime 

(C) Vimbar     (D) Detergent 

14- foVkfeu ^lh* dk lcls vPNk lzksr gS & 

(A) ew¡x nky     (B) ngh 

(C) cSaxu     (D) vk¡oyk 

The best  source of vitamin ‘C’ is – 

(A) Moong dal    (B) Curd  

(C) Brinjal     (D) Gooseberry (Amla) 

15- 'olu gS & 

(A) ,sfPNd fØ;k    (B) vuSfPNd fØ;k 

(C) (A) vkSj (B) nksuksa    (D) buesa ls dksbZ ugha 

Respiration is a – 
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(A) Voluntary activity   (B) Involuntary activity 

(C)  (A) and (B) Both   (D) None of these 

16- buesa ls dkSu jksx dh voLFkk esa detksj gks tkrh gS \ 

(A) Lej.k 'kfDr     (B) utj 

(C) ikpu 'kfDr     (D) Jo.k 'kfDr 

Which of the following becomes weak in the state of disease ? 

(A) Memory     (B) Vision 

(C) Digestion power   (D) Hearing power 

17- foVkfeu dk dkSu lk lewg olk esa ?kqyu”khy gS \ 

(A) ,] ch] lh] Mh    (B) ,-ch] bZ] ds 

(C) ,] lh] bZ] ds    (D) ,] Mh] bZ] ds 

Which group of vitamin in soluble in fat ? 

(A)   A, B, C, D     (B)   A, B, E, K 

(C)   A, C, E, K     (D)   A, D, E, K 

18- ykSg rRo dh deh ls dkSu lk jksx gksrk gS \ 

(A) csjhcsjh      (B) ejkLel 
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(C) ,uhfe;k     (D) risfnd 

Which of these disease is caused by iron deficiency ? 

(A) Beriberi     (B) Marasmus 

(C) Anemia     (D) Tuberculosis 

19- ikpu ra= esa lokZf/kd vo”kks"k.k dgk¡ gksrk gS \ 

(A) ;d`r esa     (B) fiŸkk”k; esa 

(C) Iyhgk esa      (D) NksVh vk¡r esa 

Where does most of the absorption take place in the digestive 

system? 

(A) Liver     (B) Gallbladder 

(C) Spleen     (D) Small intestine 

20- vpy vfLFk&laf/k 'kjhj ds fdl Hkkx esa ikbZ tkrh gS \ 

(A) [kksiM+h esa      (B) ?kqVus esa 

(C) dykbZ esa     (D) dksguh esa 

In which part of the body is immovable bone joint found ? 

(A) Skull     (B) Knee 

(C) Wrist     (D) Elbow 
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21- buesa ls dkSu ikpu ra= dh xM+cM+h gS \ 

(A) vip     (B) dCt 

(C) Hkw[k u yxuk     (D) buesa ls lHkh 

Which of these is the disorder of digestive system ? 

(A) Indigestion    (B) Constipation 

(C) Anorexia     (D) All of these 

22- euq"; ds 'kjhj esa QsQM+ksa dh la[;k fdruh gksrh gS \ 

(A) pkj      (B) nks 

(C) ,d      (D) rhu 

What is the number of lungs in human body ? 

(A) Four     (B) Two 

(C) One     (D) Three 

23- ekuo 'kjhj esa olk tek gksrk gS & 

(A) ;d`r esa     (B) Ropk esa 

(C) olk mŸkd esa     (D) buesa ls dksbZ ughaA 

In human body, fat is stored in - 
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(A) Liver     (B) Skin 

(C) Adipose Tissue   (D) None of these 

24- ty esa ?kqyu”khy foVkfeu gS & 

(A) foVkfeu&B    (B) foVkfeu&C 

(C) foVkfeu&A    (D) (A) ,oa (B) nksuksa 

Water Soluble vitamins are – 

(A) Vitamin- B    (B) Vitamin-C 

(C) Vitamin-A    (D) (A) & (B) both 

25- buesa ls dkSu Hkkstu idkus ds iwoZ [kk| inkFkksZa dh rS;kjh ugha gS \ 

(A) dkVuk     (B) Nhyuk 

(C) ryuk     (D) fHkxksuk 

Which of these is not a preliminary  preparation before cooking? 

(A) Cutting     (B) Peeling 

(C) Frying     (D) Soaking 

26- buesa ls dkSu uotkr f”k”kq dh rRdky ns[kHkky dk igyk dne gS \ 
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(A) cPps dk otu ysuk     

(B) xHkZuky dkVuk 

(C) Lruiku       

(D) 'kjhj ds fofHkUu vaxksa dh lQkbZ 

Which of these is  the first step of immediate care of a newborn ? 

(A) Weighing of baby    

(B) Cutting of umbilical cord 

(C) Breast feeding     

(D) Cleaning of different parts of the body 

27- okfuZl fd, x, QuhZpj dks lkQ djuk pkfg, & 

(A) xquxqus ikuh ls     (B) ljsl dkxt ls 

(C) eqyk;e diM+s ,oa dksyhu ls  (D) buesa ls dksbZ ugha 

Varnished furniture should be cleaned with 

(A) Lukewarm water   (B) Sand paper 

(C) Soft cloth and colin   (D) None of these 

28- izkFkfed mipkjdrkZ dh xq.koŸkk D;k gksuh pkfg, \ 

(A) rRij vkSj 'kh?kz    (B) 'kkar vkSj fu;af=r 

(C) dq”ky vkSj O;ogkjdq”ky   (D) buesa ls lHkh 
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What  should be the quality of first aider ? 

(A) Prompt and quick   (B) Calm and controlled 

(C) Skilful and tactful   (D) All of these 

29- buesa ls dkSu olk dk lzksr gSa\ 

(A) ?kh      (B) nw/k  

(C) ngh      (D) mi;qZDr lHkh 

Which of these is the source of fat ? 

(A)  Ghee     (B) Milk 

(C) Curd     (D) All of the above 

30- xg̀ okfVdk esa fdl izdkj dk [kkn iz;ksx ugha djuk pkfg, \ 

(A) dEiksLV     (B) tSfod [kkn 

(C) jklk;fud [kkn    (D) buesa ls dksbZ ugha 

What type of manure should not be used in kitchen garden ? 

(A) Compost     (B) Organic manure 

(C) Chemical fertilizer   (D) None of these 

31- O;fDr ds mŸke LokLF; ds fy, D;k vko”;d gS \ 
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(A) ikSf"Vd Hkkstu    (B) LoPNrk 

(C) lQkbZ     (D) buesa ls lHkh 

What is essential for the good health of a person? 

(A) Nutritious food    (B) Cleanliness 

(C) Hygiene     (D) All of these 

32- LoPNrk ds fy, dkSu lk fu;e izkd`frd ugha gS \ 

(A) 'kq) gok     (B) /kwi 

(C) uhan      (D) 'kq) vkSj LoPN is;ty 

Which is not a natural rule for hygiene ? 

(A) Pure air      

(B) Sunlight 

(C) Sleep      

(D) Pure and clean drinking water 

33- vfLFk ,oa nk¡rksa dk lgh <ax ls fodkl ugha gksus ds D;k dkj.k gSa \ 

(A) [kfut yo.k dh deh    (B) dkcksZgkbMªsV dh deh 

(C) foVkfeu dh deh    (D) olk dh deh 
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What is the reason for improper development  of bone and teeth ? 

(A) Deficiency of mineral salts    

(B) Deficiency of carbohydrate 

(C) Deficiency of vitamin 

(D) Deficiency of fat 

34- buesa ls dkSu f”k”kqvksa dh lkekU; LokLF; leL;k gS \ 

(A) lnhZ&[kkalh     (B) cq[kkj 

(C) d`fe laØe.k     (D) buesa ls lHkh 

Which of these is a common health problem of babies ? 

(A) Cold and cough   (B) Fever 

(C) Worm infection            (D) All of these 

35- fdpu xkMZu esa lfCt;ksa dh D;kfj;ksa dks fdruh ckj ikuh nsuk pkfg, \ 

(A) lIrkg esa ,d ckj    (B) lIrkg esa rhu ckj 

(C) lIrkg esa ik¡p ckj    (D) iwjs lIrkg 

How often vegetable beds in the kitchen garden should be 

watered ? 

(A) Once a week    (B) Thrice a week 
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(C) Five times a week   (D) Entire week 

36- efD[k;ksa dks u"V djus ds fy, fNM+dko fd;k tkrk gS & 

(A) Mh- Mh- Vh-     (B) Cyhphax ikmMj 

(C) vk;ksfMu dk ?kksy    (D) yky nok 

Which of the following is sprayed to destroy the flies ? 

(A) DDT     (B) Bleaching powder 

(C) Iodine solution    (D) Red medicine 

37- buesa ls dkSu olk dk Ik”kq lzksr ugha gSa & 

(A) nw/k      (B) ljlksa rsy 

(C) eD[ku      (D) ?kh 

Which of these is not an animal source of fat ? 

(A) Milk      (B) Mustard  oil 

(C) Butter      (D) Ghee 

38- buesa ls dkSu ?kj dh lkt&lTtk dk ,d egRoiw.kZ fgLlk gS \ 

(A) QuhZpj      (B) insZ 

(C) ltkoVh lkeku    (D) buesa ls lHkh 
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Which of these is an important part of home decoration ? 

(A) Furniture     (B) Curtains 

(C) Decorative items   (D) All of these 

39- buesa ls dkSu tYnh [kjkc gksus okyk [kk| inkFkZ gS \ 

(A) vukt     (B) nw/k 

(C) lw[ks esos     (D) phuh 

Which of these is a perishable food item ? 

(A) Grains      (B) Milk 

(C) Dry fruits     (D) Sugar 

40- fuEu esa ls dkSu laØked jksx gSa \ 

(A) e/kqesg     (B) dSalj 

(C) ,uhfe;k     (D) risfnd 

Which is an infectious disease ? 

(A) Diabetes     (B) Cancer 

(C) Anaemia     (D) tuberculosis 

41- fdlku fodkl i= iznku fd;k tkrk gS & 
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(A) cSad }kjk      (B) Mkd[kkuk }kjk 

(C) (A) ,oa (B) nksuksa          (D) buesa ls dksbZ ugha 

 ‘Kisan Vikas Patra’  is provided by - 

(A) Bank      (B) Post office 

(C) Both (A) and (B)    (D) None of these 

42- buesa ls dkSu 'olu ra= dk vax gS \ 

(A) o`Dd      (B) QsQM+s 

(C) NksVh vkar      (D) vek”k; 

Which of these is a part of respiratory system ? 

(A) Kidney     (B) Lungs 

(C) Small intestine    (D) Stomach 

43- 'kq) ty gksrk gS & 

(A) jaxghu     (B) xa/kghu 

(C) Loknghu     (D) buesa ls lHkh 

Pure water is – 

(A) Colourless     (B) Odorless  



21 
 

(C) Tasteless     (D) All of these 

44- efD[k;ksa }kjk dkSu lh chekjh QSyrh gS \ 

(A) eysfj;k     (B) vfrlkj 

(C) gStk      (D) risfnd 

Which disease is spread by flies ? 

(A) Malaria      (B) Diarrhea 

(C) Cholera     (D) Tuberculosis 

45- buesa ls dkSu Ik;kZoj.k iznw"k.k dk dkj.k gS \ 

(A) 'kgjhdj.k     (B) IykfLVd  

(C) ouksa dh dVkbZ    (D) buesa ls lHkh 

Which of these is a cause of environmental pollution ? 

(A) Urbanization     (B) Plastic 

(C) Deforestation     (D) All of these 

46- ekfld ctV cukuk vko”;d gS & 

(A) vk;&O;; esa larqyu cuk, j[kus ds fy, 

(B) vkdfLed vko”;drkvksa dh iwfŸkZ ds fy, 
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(C) cPpksa dh i<+kbZ ds fy, 

(D) buesa ls lHkh 

It is necessary to make a monthly budget – 

(A) To maintain balance between income and expenditure 

(B) To meet contingency requirement  

(C) For the education of children 

(D) All of these 

47- oSD;we Dyhuj dk mi;ksx ------------ dh lQkbZ ds fy, ugha fd;k tkrk gSA 

(A) cŸkZu     (B) dkyhu 

(C) edM+h dk tkyk    (D) tehu 

Vacuum cleaner is not used for cleaning of – 

(A) Utensil     (B) Carpet 

(C) Cobweb     (D) Floor 

48- fuEufyf[kr essa ls dkSu izkd`frd ty dk lcls 'kq) lzksr gS \ 

(A) dqvk¡      (B) o"kkZ  

(C) uy      (D) cksjosy 
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Which of the following is the purest source of natural water ? 

(A) Well     (B) Rain 

(C) Tap     (D) Borewell 

49- buesa ls dkSu lk jksx v”kq) ty ls ugha QSyrk gS \ 

(A) gStk      (B) iksfy;ks 

(C) {k;jksx     (D) VkbQkbM 

Which of these diseases is not spread by impure water ? 

(A) Cholera     (B) Polio 

(C) Tuberculosis    (D) Typhoid 

50- FkekZehVj }kjk ekik tkrk gS & 

(A) ukM+h dh xfr    (B) 'olu nj 

(C) :f/kj dk ncko    (D) 'kjhj dk rkieku 

………… is measured by thermometer 

(A) Pulse rate    (B) Respiratory rate 

(C) Blood pressure   (D) Body temperature 

51- tgk¡ rd gks lds [kkuk idkus esa buesa ls fdlls ijgst djuk pkfg, \ 
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(A) ?kh      (B) elkys 

(C) lksMk     (D) buesa ls dksbZ ugha 

Which of these should be avoided in cooking as far as possible. 

(A) Ghee     (B) Spices 

(C) Soda     (D) None of these 

52- ikS/ks ekuo dh dSls enn djrs gSa \ 

(A) lkal ysus ds fy, vkWDlhtu NksM+rs gS 

(B) gok dks 'kq) djus ds fy, dkcZu Mk;vkDlkbM dks vo”kksf"kr djrs gSa 

(C) Hkkstu iznku djrs gSa 

(D) buesa ls lHkh  

How do plants help humans ? 

(A) Release oxygen for breathing    

(B) Absorb carbon dioxide for making air pure 

(C) Provide food 

(D) All of these 

53- ekuo 'kjhj esa dkcksZgkbMªsV dk izeq[k dk;Z gS & 
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(A) ÅtkZ HkaMkj.k     (B) izksVhu dh cpr 

(C) ÅtkZ dk mRiknu    (D) buesa ls lHkh 

The major function of carbohydrate in human body is ----- 

(A) Energy storage   (B) Saving of protein 

(C) Energy production   (D) All of these 

54- buesa ls dkSu izksVhu dk Ik'kq lzksr gS \ 

(A) nkysa      (B) Qfy;k¡ 

(C) nw/k      (D) vukt 

Which of these is an animal source of protein ? 

(A) Pulses     (B) Legumes 

(C) Milk     (D) Grains 

55- ,d LoLFk O;fDr ,d feuV esa fdruh ckj lk¡l ysrk gS \ 

(A) 5&10 ckj     (B) 15&18 ckj 

(C) 25&30 ckj     (D) 30&40 ckj 

How many times does a healthy person breathe in one minute ? 

(A) 5-10 times    (B) 15-18 times 
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(C) 25-30 times    (D) 30-40 times 

56- buesa ls dkSu Hkkstu cukus dh loksZŸke fof/k gS \ 

(A) mckyuk     (B) Hkwuuk 

(C) ryuk     (D) LV~;wbax 

Which of the following is the best method of cooking ? 

(A) Boiling      (B) Roasting 

(C) Frying      (D) Stewing 

57- ekuo 'kjhj esa ilfy;ksa dh la[;k gS & 

(A) 10       (B) 28 

(C) 24      (D) 36 

Number of ribs in the human body is – 

(A) 10       (B) 28 

(C) 24      (D) 36 

58- buesa ls dkSu jlksbZ esa Je&cpr midj.ksa dk dk;Z ugha gS \ 

(A) [kkuk idkus dh izfØ;k dks rst djuk 

(B) le; dh cpr djuk 



27 
 

(C) Hkkstu dks Lokfn"V cukuk 

(D) ÅtkZ dh cpr djuk 

Which is not a function of labour saving devices in the kitchen? 

(A) Speeds up the cooking process 

(B) Saves time 

(C) Makes food tasty 

(D) Saves energy 

59- /kq,¡ ls dkSu lk iznw"k.k gksrk gS \ 

(A) tyh; iznw"k.k    (B) /ofu iznw"k.k 

(C) e`nh; iznw"k.k    (D) ok;q iznw"k.k 

Which pollution is caused by smoke? 

(A) Aquatic pollution   (B) Noise Pollution 

(C) Soil Pollution    (D) Air Pollution 

60- lfCt;k¡ gS & 

(A) 'kjhj fuekZ.kkRed HkksT; inkFkZ 

(B) ÅtkZ iznku djus okyk HkksT; inkFkZ 
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(C) 'kjhj j{kkRed HkksT; inkFkZ 

(D) buesa ls lHkh 

Vegetables are – 

(A) Body building foods   (B) Energy-yielding foods 

(C) Body protective foods  (D) All of these 

61- cPpksa ds f[kykSuksa ds fy, dkSu lh lkekxzh lcls vPNh gS \ 

(A) ydM+h     (B) IykfLVd 

(C) diM+k     (D) /kkrq 

Which material is best for toys of children? 

(A) Wood     (B) Plastic 

(C) Cloth     (D) Metal 

62- uotkr dks 24 ?kaVs ds vanj dkSu lk Vhdk fn;k tkrk gS \ 

(A) ch-lh-th     (B) vksjy iksfy;ks oSDlhu ¼vks-ih-oh-½ 

(C) gsisVkbfVl ch    (D) [kljk 

Which vaccine is given to a newborn within 24 hours? 

(A) B.C.G     (B) Oral Polio vaccine (OPV) 
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(C) Hepetitis B    (D) Measles 

63- jDr dk dkSu lk ?kVd thok.kqvksa ls gekjs 'kjhj dh j{kk djrk gS \ 

(A) jDrokfj     (B) fcaok.kq 

(C) 'osr jDrd.k    (D) yky jDrd.k 

Which component of blood protects our body from bacteria? 

(A) Plasma     (B) Platelets 

(C) White blood corpuscles   (D) Red blood corpuscles 

64- gekjs 'kjhj esa ty dh ek=k gS & 

(A) 20&25 izfr”kr    (B) 30&40 izfr”kr 

(C) 50&60 izfr”kr    (D) 60&70 izfr”kr 

Water content in our body is – 

(A) 20-25%     (B) 30-40% 

(C) 50-60%     (D) 60-70% 

65- uotkr f”k”kq dk oL= gksuk pkfg, & 

(A) vkjkenk;d    (B) iguus vkSj fudkyus esa vklku 

(C) ns[kHkky djus esa vklku   (D) buesa ls lHkh  
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Clothing of newborn should be – 

(A) Comfortable     

(B) Easy in wearing and taking out 

(C) Easy to take care of  

(D) All of these 

66- [ksy egRoiw.kZ gS & 

(A) 'kkjhfjd fodkl ds fy,   (B) ekufld fodkl ds fy, 

(C) lkekftd fodkl ds fy,   (D) buesa ls lHkh  

Play is important for – 

(A) Physical development  (B) Mental development 

(C) Social development   (D) All of these 

67- vfrlkj ds y{k.k gSa & 

(A) iryk nLr     (B) tYnh&tYnh i[kkuk gksuk 

(C) i[kkuk ds lkFk jDr vkuk  (D) mijksDr lHkh  

Symptom of dysentery is – 

(A) Loose motion    (B) Frequent motion 
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(C) Stool with blood    (D) All of the above 

68- ?ksa?kk jksx lacaf/kr gS & 

(A) vk;ju ls     (B) rk¡ck ls  

(C) vk;ksfMu ls     (D) dSfYl;e ls 

Goitre is related to – 

(A) Iron     (B) Copper 

(C) Iodine     (D) Calcium 

69- gekjs 'kjhj esa izksVhu dk dke gS & 

(A) Hkkstu dk ikpu    (B) dksf”kdkvksa dh ejEer djuk 

(C) 'kjhj dks jksxksa ls cpkuk   (D) buesa ls lHkh  

Function of protein in our body is – 

(A) Digestion of food   (B) Repairing of cells 

(C) Protecting body from diseases (D) All of these 

70- 'kkjhfjd Je ds fy, ÅtkZ dk cM+k lzksr gS & 

(A) olk      (B) dkcksZgkbMªsV  

(C) [kfut&yo.k    (D) foVkfeu 
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Major source of energy for physical work is  

(A) Fat      (B) Carbohydrate 

(C) Mineral-salt     (D) vitamin 

Section-B

Short answer type questions 

Non-objective type questions

iz”u la[;k 1 ls 18 y?kq mÙkjh; gSaA fdUgha 10 iz”uksa ds mÙkj nsaA izR;sd iz”u ds fy, 2 

vad fu/kkZfjr gSaA fuEu esa ls izR;sd ij laf{kIr fVIi.kh yxHkx 40 'kCnksa esa fy[ksaA  

¼10x2=20½ 

Question No.1 to 20 are Short Answer Type Questions. Answer any 10 

questions. Each question carries 2 marks. Write Short notes on the 

following in approximately 40 words each. 

1- [kljk          2 

 Measles 

2-  x`fg.kh ds dŸkZO;        2 

 Duties of housewife 

3- vkn”kZ edku         2 

 Ideal house 

4- ty dh dBksjrk        2 

 Hardness of water 

5- Hkwfe ty         2 
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 Ground water 

6- jDr dk 'kq)hdj.k        2 

 Blood purification 

7- foVkfeu C ds lzksr        2 

 Sources of vitamin ‘C’ 

8- Lruiku esa lko/kkuh        2 

 Caution of  breast feeding 

9- larqfyr Hkkstu        2 

 Balanced diet         

10- vkgkj dks lajf{kr djus ds rjhds      2 

 Ways to preserve food 

11- jksxh ds fy, iF;        2 

 Sick diet 

12- Hkkstu idkus ds fl)kar       2 

 Principle of cooking 

13- x`g okfVdk dh ;kstuk       2 

 Planning of kitchen garden 

14- flykbZ e”khu         2 

 Sewing machine 

15- feÍh ds crZuksa dh lQkbZ       2 

 Cleaning of earthen untensils. 
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16- okgd psd         2 

 Bearer cheque 

17- [ksy midj.k         2 

 Sports equipment 

18-  'olu ra=         2 

 Resptratory system 

19- izkFkfed Vhds         2 

 Primary vaccines 

20- d{k vyadj.k         2 

Room decoration 

Long Answer Type Question 

iz'u la[;k 21 ls 26 rd nh?kZ mÙkjh; gSaA bl dksfV ds izR;sd iz”u ds fy, 5 vad 

fu/kkZfjr gSaA fdUgha 3 iz”uksa ds mÙkj nsaA viuk izR;sd mÙkj yxHkx 100 'kCnksa esa nsaaA 

          ¼3x5=15½ 

Question Nos 21 to 26 are Long Answer Type Questions. Each question 

carries 5 marks. Answer any 3 questions. Write each of your answer in 

approximately 100 words.         

 ¼3x5=15½ 

21- i;kZoj.k iznw"k.k dks fu;af=r djus ds fy, D;k mik; fd;s tkus pkfg, \  
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 What measures should be taken to control environmental 

pollution ?          

22- ekuo mRlZtu ds egRoiw.kZ vax D;k gS vkSj muds dk;Z D;k gS \ 

What are the important human excretory organs and their 

functions ?          

23- cpr djus ds  D;k Qk;ns gSa \ foLrkj ls ppkZ djsaA 

 What are the advantages of saving? Discuss in detail. 

24-  ty dh gesa D;k vko”;drk gS\ ekuo 'kjhj esa ty ds dk;ksZa dk o.kZu djsaA 

 Why do we need water? Describe the function of water in human 

body. 

25- x`g okfVdk ¼fdpsu xkMsZu½ ds D;k Qk;ns gSa\ 

 What are the benefits of kitchen garden? 

26- foVkfeu dh deh ls gksus okys jksx D;k gS \ 

 What are the deficiency diseases of vitamins? 


